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lnnruc&,.. : 

i) All quest ion8 arc co,npulsory.
ii) This question pnpcr has c.wo scl'I ions 'A' and '/?'.
iii) St•ction 'A' contuins 20 n1ultipk choice type questions of I n1ark

each that has to l,e answcn·d 011 OMR Answer Sheet· 
iv) After giving answer on OMR Answer Sheet, do not cut it and do 1101

use eraser, whitener etc. 
vJ Section 'B' contains detailed answer type questions or 50 mark:,;.
vi) Total 5 questions are there in this section.
vii) In the beginning of each question it has been mentioned how n1any

parts of it are to be attempted. 
viii) Marks allolted to each question arc mentioned against it.
ix) Start from the first question and go up to the last question. Do not

waste your time on the question you cannot solve.
x) If you need place for rough work, do il on left page of your answer

book and cross ( x ) the page. Do not write the solution on that
page. 

xi) Do not rub off the lines conslruclcd in a question of construction.
Do write the steps of construction in brief, if asked.

xii) Draw neat and correct figure in solution of a question wherever it
is necessary, otherwise in its absence the solution will be treated
incomplete and wrong.

(SfO,i; - 31' 

Section -A 

( at�facfi?flq 'Q"R ) 
( Multiple Choice Type Questions ) 

I . � � ,.Fflr14cfi '!°lli:fll a alh- b cfl �

(A) a = lf o lf o ( a, b) x b 

(8) a x b "" Ffo lf o ( a, b)

(C) b e lfo lf o ( a, b) x Ro lfo ( a, b ) 

(D) a ,, b "' lfo �o ( a, b J x Ff o �o ( a, b ) 
•
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1. For any two positive integers 'a' and 'b'

(A) a = HCF ( a, b ) x b

{B) a x b = LCM ( a, b ) 

{C) b = HCF { a, b ) x LCM ( a, b ) 

(D) a x b = HCF ( a, b ) x LCM ( a, b ) 

2. � �..Q�H qnqq � � 31qf{qq � cf>T �illlfit-1 � t

{D) � "ffl 

2. The quotient of a non-zero rational and irrational number will be

(A) Natural number

(C) Rational number
(B) Irrational number

(D) Whole number

3. � m= 5 � n = m + 7, 'ffi J m2 +n2 cfiT ttR ffl

3. 

4. 

4. 

(A) 65

(C) 13

(B) 26

(D) 17

If m = 5 and n = m + 7, then the value of J m2 +n2 will be 

(A) 65

(C) 13

(A) �

(C) �

(B) 26

(D) 17

(B) �

(D) atttft�

The equivalent rational numbers of any rational number will be

(A) (B) two
one 

(C) three
(D) undefined

01000/24 
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5. 
1i41?f,J ,,, ;: , 

r, I 1:fP. 

• • • • # ,.,, 

(DJ � R ciiE ;:rnT

5. a1 x+b1y+c1 =0 and a2x+b2y+c2 =0 are two Jinear equations. ff 

al bl cl -=-=- then
a2 b2 c2

(A) Lines are paraJleJ (BJ Lines are coincident 

(CJ Lines are intersecting (DJ None of these 

6. fcf;m � q;r � � 1lJ1T 21 � crncR t. m � � efrrft

(A} 21 

(CJ 63

(BJ 42 

(DJ 84 

6. One third of any number is equal to 21. Then the number will be

(A) 21

(CJ 63

(A) 0

(CJ 2

(BJ 42 

(DJ 84 

(BJ 1 

(DJ 3 

1 

1 

7. If one root of the quadratic equation x2 +2x- p=O is - 2, then the value

of p will be

(A) 0

(CJ 2 

01.(J00/24 
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��m-11 

(A) fl 1-!a(I§ (B) fclt4'1iiil§

(C) :«'l{<:Zq (D) flitfuatl§ 1 

8. The ratio of the areas of two triangles is equal to the square of the ratio of

th�ir corresponding sides. Then these triangles will be

(A) Equilateral

(C) Similar

(A) ( 0, - 7 )

(C) ( 7, O ) .

(B) Scalene

(D) Isosceles

(B) ( - 7, 0}

(DJ· ( 7, 7 ) 

1 

I 

9. The coordinate of the point on the x-axis and equidistant from points

( 2, - 5 ) and { - 2, 9 ) will be

(A) ( 0, - 7)

(C) ( 7, 0 )

(BJ ( - 7, 0 }

(D} ( 7, 7 J 

10. MBC� fllifuatl§ � t f�fl4 AB = AC, 'ffi 

(A) LB > LC (B) LB< LC

(C) LB =LC (D) LB s LC

10. MBC is an isosceles triangle with AB = AC, then

(A) LB > LC {B) LB< LC 

(C) LB= LC (D) LB s LC

11. MBC � AB ==6J3 'WIT, AC = 12 -w:IT afu: BC = 6 'Wn t fil ffl B 'ITT1TT

(A) 120°

(C) 60°

(B) 90°

(D) 15°

1 

1 

I 

l 
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11. In MBC, AB =6J3 cm, AC= 12 cm and BC= 6 cm, then LB will b<·

(A} 120° 

(C) 60
°

(A) a/3

(C) 3.fa

(B} 906

(D) 15()

(B) 3a

(D) a

L 

1 

12. M.BC is an equilateral triangle of side 2a. The length of each of its

altitudes will be

{A) aJ3 (B) 3a

(C) 3../a (D) a

13. � sin A = cos A �. 'ffi A cf;)' l:fR ifrrr

(A} oo
(B) 30°

(C) 45°

(D) 60°

13. If sin A =cos A , then value of A will be

(A) oo fB) 30°

(C) 45° (D) 60°

14. �A= 300, of 1 +tan A cfiT l:fR � 
1+cot2 A 

(A) 4
3

(C) 3

,a, 

(D) 

- 1

l 
3 

1 +tan2 A14. If A=- 30° then the value of
2

will be 
l+cot A

(A) ;

(CJ 3 

01000/24 
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1., >�\� ,� ..... , ,j1i� .-f;) hrJ.1n tfit TfTI tfi< �1 :i11� at � � �1 ii i.t-l �,
mrt�lr1 iJt;r. ilrft 

(A) I OO'Yc, (8) 200%,

(C) :lOO'Yc,
(D) 400%

I�- If the rudius or a sphere is doubled then the increase of percentage in its
surface arcn will be 

(B) 200%,
(C) 300'Y.,

(D) 400°/o

to. � � � � cfiT -li1q1a 4: 9 t1 � cfft � ll 64f11<1wrt

(A) 9 : 4

(C) 2: 3
(B) 4 : 9

(0) 4 : 5 I 

16. The ratio between the diameters of two circles is 4 : 9. The ratio between
their circumferences will be 

(A) 9 : 4

(C) 2 : 3

RctfMfoila t11fiofl cfiT lfrUi WTl17.

(B) 4 : 9

(D) 4 : 5 1 

IL�-crrr�·�-3i�·��a-��,�:.:___·�l�o�-�
2�Ll�2�:�_IL.__4_:��l�-6�-s��l�s-�-o___.lcill<ii11H11 3 

(A) 4·2

(C} 6 

(B) 5·4

(D) fr 1 

17. The mean of the following table will be

Class-interval 

Frequency 

(A) 4·2
(C) 6

01000/24

0-2

3

2-4

1

(8) 5·4

(D) 6· 1

4-6

5

1 

6-8 8-10

4 7 

1 
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(A) 25

(C) 25·4

8 

(B} 26 

(D) 26-3 I 

18. The mean of a frequency distribution is 24· 1 and mode is 28. Jts median

will be

(A) 25 (8) 26

(C) 25·4 (D) 26-3

1
9

.
1 

qll'-3:icHIH 0-10 10-20 20-30

«lltGflH'II 11 21 23 

19. 

20. 

(A) 10 - 20

(C} 30 - 40 

(B) 20 - 30

(D) 40 - 50

Class�interonl 0-10 10-20 20-30 

Frequency 11 21 23 

Modal class of the above table will be 

(A) 10-20 (B} 20-30 

(C) 30-40 (0) 40-50

l:fll2l, � � at§Hcfi «fi GIN � m 

30-40

14

�0-40 

14 

(A) � = 2 Gf§ct<fi + 3 � (B) af§H<fi = 3 � - 2 llM

(C) «l§M<fi = 2 llttlf - 3 � (D) � .. 3�- 2 ci:l§Hcfi

20. Relation between mean, median and mode will be

(A) Median = 2 mode + 3 mean

(B) Mode = 3 median - 2 mean

(CJ Mode = 2 mean - 3 median

(DJ Mean = 3 median - 2 mode

01000/24 
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Section - B 

( f�f<!ct a=nfh� � ) 
( Detailed Answer Type Questions ) 

822(DV) 

J. � "&U's q,1fs11q :

1. 

(a) <lK 2cos2 45°- l=.:cosO, nT o q,T 1lR mn cfi
1lr-i!t� 1 2 

(b) � $fi4Pl<'1 lHlc-4� T71fcfi mrJ cnlfsiitZ f� qTjr cfiT mTT 365 it I 2 

{c) � ( x, y J, �an ( 3, 6 ) 31tt { - 3, 4 ) if ft45.<<-'4 � ffi x 3fR Y -q

2 

(d) � M<ii<'fdlll #j} cf. 3lMR � � 3·5 WTI <i2IT &'ill� 12 w:ft � I WT "Ch1

�&'ql��m�, 

{e) �311 ( a, b) -31t� ( - a, - b} ell � cfi1 � � q,')f;;:i1� I 

(f) � ftlf{oft it llTUJ mo chlf-i1Q :

I
cflt-J.i cH I C1 0-10 10-20

I
20-JO 30-40

<iil{isll{c11 3 10 I I 9

Do all the parts : 

2 

2 

2 

40-50

7 

(a) If 2cos245°-l=cos0, then find the value oro·. 2 

(b) Find two. consecutive positive integers, sum of whose squares is 365.

2 
(cJ Find the relation between x and y such that the point ( x, y ) 1s 

equidistant from the points ( 3, 6) and ( - 3, 4 j. 2 
(d) The base radius of a right circular cone is 3·5 cm and height 1s

12 cm. Find the slant height of the cone. 2 
(e) Find the distance between the points ( a, b) and ( - a, - b ). 2 
(D Find the mean from the following table : 2 

Class-interval 0-10 10-20 20-30 30-40 40-50

Frequency 3 IO 1 I 9 7 

01000;24 I Turn over
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2. � 1ITTl lsfUsT aj rn ch'lf,;i Q :

(a} 7·6 w:ft C'lkllt � � t©l@O,i; @fi.lQ � � 5 : 8 cf1 3tiqfr1 ll �
ctiif"IQ I � � cfi1' 141fqQ 1 4 

(b) 2x+3y=l l 3ltt 2x-4y=- 24 q;)- ffl cblf'1!Q 3TI( � m q;r � T.TR �

<f>lf"1Q f.iifl� � y=mx+3 "ITT I 4

(c) "QR � mt � AA.BC� �,a.n AB am AC cf>1 sFlffl: D 3W E q{
>lffi�c{ � � ,prT BC* flliiri< "ITT or� cf>lM(t AD= AE . 4

AB AC 
(d) � N:ir l. � "flfil t', � � 3ffi � 1 �21<H � i � � _!_ � '1fl<iT t

3 4 

4 

(eJ fl41cf,{OI x+ ! =3, x¢ O cfi � � cf>ll"1Q I 4 

(fl GT ·TT{ 41<'41n11 :«1Rofl cnl � 28-s t-1 x 31l'{ y � lTR mo itl1f-,,Q

"14Ffi � citl{cstl{fll 60 � I 4 

<flt" .ji rl � I <1 0-10 10-20 20-30 30-40 40-50 50-60

41<ail<o1 5 x 20 15 y 5 

2. Do any five parts :

(a) Draw a line segment of length 7·6 cm and divide it in the ratio 5 : 8.

Measure the two parts. 4 

(b) Solve 2x+3y=l l and 2x-4y-=-24 and hence find the value of m for

which y=mx+3. 4 

(c) If a line intersects sides AB and AC of a triangle ABC at D and E

respectively and is parallel to BC, prove that AD
= 

AE . AB AC 4 

(d) A fraction becomes � when 1 is subtracted from the numerator and it

(eJ 

01000/24 

becomes .! , when 8 is added to its denominator. Find the fraction. 4 
4 

· 1 3 ;tO 
Find the roots of the equation x+-,;:;: , x ·· · 

x 

4

' 
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(f) If the median of the frequency distribution given is 28·5. Find the
values of x and y while total off: . · 60 4 requenc1es 1s 

Class-interval 0-10 10-20 20-30 30-40 40-50 50-60
Frequency 5 x 20 15. y 5 

3. � tAT � � Sk4<f; � �lll<R 64 wft-3 t, cli' fiM•� q;(vfcfil cfiT fl4e1lcfH � offi

� � t I mG'f � q:if � �;.iq,c:, ffio cf>1MQ I 6

� 

� TTTRr f-,,�c:fil olim 12 wft t, � Hkii�'ffill �C"Hicfil< � lf � "flm t

� � i:wft � t-1 � lTtffi -cn;f1- ·-q � � � t ctr iij(vf�l<f;I{ � lf tfFIT 
cf,1 mw 3 � � � � t ,· �C"l-11cfi1< � cf;T am:r mo cti"lf;:;:iQ 1 6 

3. Two cubes of volume 64 cm 3 each are joined end to end to. make a solid .. 

Find the surface area of the resulting cuboid. 6 

OR 

A sphere of diameter 12 cm is dropped into a right circular cylindrical 

vessel partly filled with water. If the sphere is emersed completely in the 

water, the water level in the cylindrical vessel rises by 3..§. 
·9 

cm. Find the

diameter of the cylindrical vessel.  6 

4. ,rm� W?Rr � x� � ZJcR PQ c); � Q � 3$14.:t cfiTUT 60° t-1 � 

X � 40 ffl djtjf� � � � Y � Q � 3�?.H cf;lUT 45° t I ZfcR PQ cfi1' 

��Ff PXm<f q;1fJtQI 6 

� � � � � 11R ctft '3lR" 3lT � f, � � ljR cf;f d�<Ff cf,1Uf 30° � 

� I � � "3m � � 4 � � � 4�i41ct ljR cfiT d,iq-1 cmul' 60° 6T TFrr I 

� cfiT "lR ocfi' � -it fq;a-1 r � 31lr C11lrTT ? 6 
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4. 

12 
PQ from a point X

The angle of elevation of the top Q of a vertical tower 
ve x the angle of

on the ground is 60° . From point Y. 40 m vertically abo 
. . . h of the tower PQ

elevation of the top Q of the tower is 45° . Find the heig t 

and the distance PX.

OR 

· . . · stant the angle of
From a boat which 1s coming towards a bridge, at any in 

. . . t s with same velocityelevation of the bridge 1s 30° . After travelling 4 m1nu e 

the angle of elevation of the bridge becomes 60° . How much more time
will be taken by the boat to reach the bridge ? 6 

5. fQm cf>1 '311, � cf>1 69 cf>1 mn � t 1 � � � Nffi � m, � cfi1' '311 cit

� �'llcfi{OI � "cfiT �f@cfi fl'll<fi{Ur\ � � � isl�{-l<h{ ffi cilf-ii(t

_!.Q_+ 2 --4 
x+y x-y

15 5 
x+ y x - y

6 

6 

5. The father is 7 times older than his son. 1\vo years ago, the father was
13 times as old as his son. What are their present ages ? 6

OR 

Solve the following pair of equations by reducing them to a pair of linear 
equations: 

10 + 2 =4 
x+y x -y 

15 5 =2 

x+ y x -y 

822(DV) - 3,62,000 
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